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1.If a Cisco ARC cluster is fully operational, how many replica copies does each shard have in addition to 
the leader replica? 
A. 4 
B. 3 
C. 1 
D. 2 
Answer: B 
 
2.Which two statements about Cisco ACI interaction with STP in legacy networks are true? (Choose two) 
A. External switches ignore flooded BPDU frames received from the Cisco ACIfabric. 
B. BPDU guard is enabled on FEX ports by default. 
C. BPDU guard cannot be configured on leaf edge ports. 
D. STP is enabled by default within the Cisco ACIfabric. 
E. BPDU frame is flooded within EPG No configuration is required. 
Answer: A,D 
 
3.Which MO name represents a physical domain? 
A. RtDomP 
B. PhysDomP 
C. physDomP 
D. InfraRtDomP 
Answer: C 
 
4.Which command allows you to log in to a line card on a leaf switch? 
A. Leaf# vsh_lc 
B. Leaf#vsh 
C. Leaf*vsh-lc 
D. Leaft vshell -lc 
E. Leafs vsh-hw 
Answer: E 
 
5.Refer to the exhibit 
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Which two statements about this managed object are true? (Choose two) 
A. This object is part of the concrete model. 
B. There are endpoints with encapsulation vlan-2230 in the EPG name "web-server" on node 101. 
C. This object is part of the resolved model. 
D. This object is part of the logical model 
E. This object represents an FPG named "web server" in tenant Prod. 
Answer: B,C 
 
 


